2x+3 2x-7

5 3

@ -16x - 26
16x + 44
@ 15

@ -16x+ 44
—-16x + 26
@—r=

—x—26

~&B

B2RE 15 2 BE5HH

2x+3 2x-7

-3(2x+3)—-5(2x—-17)

) 3

—6x—9—}8x+35

—16x + 2165
15




1 3
1
@ 2x+17 @ 2 +1 ® x;r
2x + 17 2x+1
@ 12 ©

~&B

BERE 12 2 5E354
3(2x+3) 4(x-2) _ 3(2x+3)-4(x-2)

12 12







» E!:

L. 35 13
I>Jcc->it=|- —EX—E
S5
1 43x_{%(7x+4)_2(1—:|))—2x)}
_1-3x (21x+12—4—8x)
T4 6
_1-3x 13x+8
T4 6
_ 3-9x-26x-16
N 12

35 13

12° 712




5. A=x+3, B=-2x+5 % 1, 24— (B-24)
C} -
[=

>
> ®E D 6x4+7

B

A=x+3,B=-2x+5
2A — (B-2A)
=2A-B+2A
=4(x+3) - (-2x+5)
— A 125 2%—5
=6x+7




6. A=x-1,B=-2x+1%Ym, A-(B-2A) & Itds] stH?

@ 6x+7 @ x-3 @ -2x+1

QBx 4 ® 5x+10

~&B

A=x-1,B=-2x+1

A-(B-2A) =A-B+2A
=3A-B
=3(x-1)—(-2x+1)
=3x-3+2x-1
=bx—4




